Algebra 2



Name _____________________________

Unit 5 Review: Exponential Functions 
     


 Date____________________Block___
Sketch the general shape of an exponential function 
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3.  What must be true about a and b of the function 
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 that corresponds to the given graph?




State whether each of the given functions represents exponential growth or decay. Then identify the “a” and “b” values.
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               a = ________   b = _______
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               a = ________   b = _______
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              a = ________   b = _______
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                 a = ________   b = _______


8.  Match the graph with the correct function below.
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Identify the characteristics for the functions given below.

	9.
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	Domain: _________________
Range: _________________

Horizontal Asymptote: __________

X-Intercept: ________________

Y-Intercept: ________________

Interval of Increase or Decrease: ________________

End Behavior: 
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	Domain: _________________

Range: _________________

Horizontal Asymptote: __________

X-Intercept: ________________

Y-Intercept: ________________

Interval of Increase or Decrease: ________________

End Behavior: 
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Identify the transformations for the functions given below. Then graph the function using transformations.
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	Parent Function:
	Vertical Reflection?
	Horizontal Reflection?
	Horizontal Shift: Direction? How many?
	Vertical Shift: Direction? How many?

	
	
	
	
	

	Starting Points:
	Horizontal Asymptote:
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	Parent Function:
	Vertical Reflection?
	Horizontal Reflection?
	Horizontal Shift: Direction? How many?
	Vertical Shift: Direction? How many?

	
	
	
	
	

	Starting Points:
	Horizontal Asymptote:

	
	


	Graph # 11 Here:
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	Graph # 12 Here:
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Solve each equation.
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Match the application formula with the correct name.

	16. Exponential Growth
	A. 
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	17. Exponential Decay
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	18. Compound Interest
	C. 
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	19. Compound Continuously
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20. Suppose that $ 12000 is invested at 6% compounded quarterly.  

a.  What will the investment be worth after 5 years?  

b. How much interest has been earned in the first 5 years?

21.  You bought a guitar 6 years ago for $400, and its value is decreasing by about 13% per 

       year.  How much is your guitar worth now?

22. Your grandparents opened a college savings account for you on the day you were born. They found an investment that pays 8% annual interest, compounded monthly. How  

      much money did they need to invest in order to have $40,000 in the account on your 18th birthday?  

23. Find the interest on $2500 when invested at 4.8% annual interest compounded monthly for an eight year period.

24.  A colony of algae increases in size by 15% each week. If 10 grams of algae are  placed in a lake, find the weight of the algae that will be present in the lake after 12  weeks. 
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